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Correct Marks: 2 WrongMarks: 0



Which of the learner characteristics will influence his/her perspective in a course of study?

1) Learner’'s commitment

(1) Parents interest in the learner

(111) Prior knowledge of the learner

(iv) Skill of the learner in the concerned area
(v) Family size of the learner

(vl) Soclo-economic backeround of the family to which the learner belongs
Choose the correct answer from the options given below :

(1) (1), (1) and (v)
(2) (1), (i1) and (111)
(3) (i11), av) and (v)
@ (v, () and (vi)
Options:
645350116539 1
645350116540 2

645350116541, =
E4E350116542. 4

Question Number : 1 Question Id : 64635029685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350116529, 1
645350116540, 2
645350116541 =
645350116542 4

Question Number : 2 Question Id : 64635029686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the strategies in the list given below will be associated with direct teaching?

(i) Providing examples and explanation
(11) Promoting inquiry

(111) Focussing on concepts

av) Giving review and recapitulation

(v) Offering practice and feedback

(vi) Problem raising and problem-solving

Choose the correct answer from the options given below :
1) @, @) and @)

@ (), (ii) and (v)

@ @), @) and(v)

@ @v), (v) and (1)
Options:

645350116543 1
6453501165544 2
645350116545 =
E4E350116546. 4

Question Number : 2 Question Id : 64635029686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116542 1
645350116544 2
645350116545 =
645350116546 4

Question Number : 3 Question Id : 64635029687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The performance of a student is compared with another student in which type of testing?
(1) Criterion referenced testing

(2) Diagnostic testing

(3) Summative testing

(4) Norm-referenced testing

Options:
645350116547, 1
645350116543 2



E4E350116549. =
645350116550, 4

Question Number : 3 Question Id : 64635029687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350116547, 1
645350116548 2
645350116545 =
645350116550 4

Question Number : 4 Question Id : 64635029688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 18 an example of a maximum performance test?
(1) Personality tests

(2) Projective personality tests

(3) Aptitude tests

(4) Interest and attitude scales
Options:
646350116551 1
646350116552, 2
646350116553, 3
646350116554 4

Question Number : 4 Question Id : 64635029688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116551 1
645350116552 2
645350116553
646350116554 4

Question Number : 5 Question Id : 64635029689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
From the list given below identify those questions which are called process rather than

content based questions?

1) Convergent questions
11) Divergent questions

(i11) Fact based questions

(iv) Concept based questions
(v)  Open questions

(vi) Closed questions.

Choose the correct answer from the options given below :
(1) @, @) and u)

(2) (i1), (ii1) and (iv)

(3)  @v), (v) and (1)

(4) (i1), (iv) and (v)

Options:

645350116555 1
645350116556, 2
645350116557 5
645350116558 4



Question Number : 5 Question Id : 64635029689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116555 1
645350116556 2
648350116557 2
645350116553 4

Question Number : 6 Question Id : 64635029690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The conceptual framework 1n which a research 1s conducted 15 called a
(1) Synopsis of research
(2) Research design
(3) Research hypothesis
(4) Research paradigm

Options:
645350116559 1



EAEZ50116560. 2
645350116561, =
645350116562 4

Question Number : 6 Question Id : 64635029690 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350116555, 1
645350116560, 2
645350116561, 5
EAEZ50116562. 4

Question Number : 7 Question |d : 64635029691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A shift in attitude in respondents between two points during data collection 1s called
(1) Reactive effect

(2) Maturation effect

(3) Regression effect

(4) Conditioning effect
Options:

646350116563, 1
646350116564, 2
646350116565, 3
646350116566, 4

Question Number : 7 Question Id : 64635029691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4E350116563. 1
E4E350116564. 2
E45350116565. =
E45350116566. 4

Question Number : 8 Question Id : 64635029692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list given below identify those which are called Non-probability sampling
procedures’ :

1) Simple random sampling
(11) Dimensional sampling
A1) Snowball sampling

av) Cluster sampling

(v) Quota sampling

(vi) Stratified sampling

Choose the correct option
1 @, ) and @)
@ (@), Gv) and (v)
@ @, (i) and Gv)

@ @), (1) and (v)
Options:
45350116567, 1
645350116568 2
645350116569
645350116570 4



Question Number : 8 Question Id : 64635029692 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116567, 1
645350116568 2
645350116569 =
645350116570 4

Question Number : 9 Question Id : 64635029693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The major characteristic of correlation analysis 1s to seek out

(1) Differences among variables

(2) Variations among variables

(3) Association among variables

(4) Regression among variables
Options:

E4E8250116571. 1



EAE350116572. 2
6453501168573, 2
645350116574 4

Question Number : 9 Question Id : 64635029693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648350116571 1
45350116572 2
645350116572 5
645350116574 4

Question Number : 10 Question Id : 64635029694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The time-frame in which a study explores a situation or problem is also called the

(1) reference period

(2) age
(3) longitudinal

(4) retrospective time
Options:
£46350116575. 1
£453501 16576, 2
£46350116577. 3
646350116578, 4

Question Number : 10 Question Id : 64635029694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116575 1
645350116576 2
645350116577 2
48350116578 4

Sub-Section Number: 2
Sub-Section 1d: 6463501441
Question Shuffling Allowed : Yes

Question Id : 64635029695 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

(Geography seeks to understand the physical and human orgamzation of the surface of the
Earth. In the field of geography, inter-related themes are frequently seen. These are scale,
pattern and process. Scale 1s defined as the level of structure on orgamsation at which a
phenomenon 1s studied. Pattern i1s defined as the variation observed in a phenomenon
studied at a particular scale. The third theme, process, further connects the first two.
Process 1s defined as the description of how the factors that affect a phenomenon act to
product a pattern at a particular scale. For instance, when a passenger on an aircraft looks
out of the window, the view changes according to the scale. At the global scale when the
aircraft maintains i1ts height, he can see the chunks of clouds in all their pattern, the sun or
the moon, as per the time. When the aircraft loses a little height, passengers can see the land
and water masses in their different colours and the shape of land masses. At the continental
scale, the passengers can see the shapes of the land features and how they are distributed.
The pattern emerges as the variation of land and water and the proportion of each. Loolang
carefully, passengers can note how each land mass aligns with the others and how each
mountain bears the signs of the process through which it emerged.

The processes 1n a geography change 1n a regular and repetitive manner. One instance of
this 1s the annual solar cyele of the sun and the earth. Most systems in nature display time
cycles that are organised in a rhythm of their own. As these time cycles and natural
processes are always active, the environment of the earth 1s always 1n a state of dynamism.
This environmental change is not only the result of natural process but also the result of
human activity. Physical geography works towards understanding the interaction between
man and nature and also the results of this interaction in order to manage global climate
change better.



Sub questions

Question Number : 11 Question Id : 64635029696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In geography, pattern studies the variation observed in a phenomenon at

(1) a particular scale (2) any scale
(3) every scale (4) most scales
Options:

E4E350116573. 1
EAE350116580. 2
645350116581, =
645350116582 4

Question Number : 12 Question Id : 64635029697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The view seen by a passenger looking out of the window of an aireraft will be affected by the

(1) Process (2) Pattern
(3) Scale (4) Rhythm
Options:

645350116583, 1
645350116584, 2
645350116585, =
645350116586, 4

Question Number : 13 Question Id : 64635029698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The time cycles of the system of nature follow their own

(1) Path (2) Rhythm
(3) Process 4) Cycle
Options:

645350116587, 1
E4EZ5011658E. 2
E4E350116589. =
645350116530, 4

Question Number : 14 Question Id : 64635029699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Physical geography studies the results of the interaction between man and nature in order to
(1) understand global climate change
(2) study the impact of man’s activities on nature
(3) address the issue of global climate change
(4) reduce man-animal conflict
Options:
645350116591 1
645350116592 2

6453501165393 2
645350116594 4

Question Number : 15 Question Id : 64635029700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The alignment of landmass with other elements can be seen by a passenger on a flicht on a

(1) Global scale (2) Continental scale
(3) Local scale (4) Time scale
Options:

6453501165595, 1
645350116536, 2
645350116597, 5
E4EZ501165958. 4

Question Id : 64635029695 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 11 Question Id : 64635029696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350116573. 1
645350116580 2
645350116581, 5
E4E350116582. 4

Question Number : 12 Question Id : 64635029697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350116583. 1
E4E350116584. 2
645350116585, =
645350116586, 4

Question Number : 13 Question Id : 64635029698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350116587, 1
645350116588, 2
645350116589, 5
E4EZ50116530. 4



Question Number : 14 Question Id : 64635029699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116591, 1
645350116592 2
645350116592
645350116594 4

Question Number : 15 Question Id : 64635029700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350116595. 1
6453501168596, 2
6453501165597, 2
645350116595 4

Sub-Section Number: 3
Sub-Section 1d: 6463501442
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635029701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mass media do not have pre-determined functions for everyone and people use them the way
they like. This 1s suggestive of the fact that,

(1) Audiences are active

(2) Content 1s of little significance

(3) Content lacks plurality

(4) Audiences are homogeneous

Options:
645350116599 1
645350116600, 2



45350116601, =
645350116602, 4

Question Number : 16 Question Id : 64635029701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
646350116599, 1
646350116600, 2

645350116601, =
645350116602 4

Question Number : 17 Question Id : 64635029702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of communication, usual sequence 1s

(1) Language — Communication — Society —» Civilization
(2) Communication — Society — Language — Civilization
(3) Communication — Language — Society — Civilization
(4) Language — Society — Communication — Civilization
Options:

4223501166032, 1

646350116604 2

645350116605, =
45350116606, 4

Question Number : 17 Question Id : 64635029702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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646350116603, 1
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4350116606, 4

Question Number : 18 Question Id : 64635029703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match Set ‘A’ with Set ‘B’

A (Media) B (Transmission/Communication)
(a) Audio 1) Bandwidth
(b) Advertising (11) Linear communication
() Internet (111) Non personal Communication
(d) Newspaper av) Frequency modulation

Choose the correct answer from the options given below :

(a) (b) © Gy
(1) Qi) (av) (11) Q@)
@ @ (11) (111) @v)
3) av) (ui) Q) (1)
4) () (1) (1v) (111)
Options:
645350116607, 1
645350116608, 2
645350116609 2
E4AE350116610. 4

Question Number : 18 Question Id : 64635029703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350116607, 1



EAEZ50116608. 2
645350116609, =
645350116610 4

Question Number : 19 Question Id : 64635029704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A communication process can be considered complete when

(1) The sender transmits the message

(2) The message enters the channel

(3) The message leaves the channel

(4) The receiver understands the message
Options:

645350116611, 1
645350116612 2
E4E350116E13. =
45350116614 4

Question Number : 19 Question Id : 64635029704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116611, 1
645350116612 2
6453501166132 =
648350116614 4

Question Number : 20 Question Id : 64635029705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A customer writes to a bank, ‘Kindly send me a statement of my transactions in my savings

bank account ‘A’ during the last three months”. In terms of commumication it will be called

(1) Input (2) Message
(3) Output (4) Feedback
Options:

645350116615, 1



EAEZ50116616. 2
645350116617, =
45350116615, 4

Question Number : 20 Question Id : 64635029705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UF UIEE S F forEd @ - Fo fam dW o % aE o 9= S @ 7O 0 dF-aq f oF foed
US|

oENYT o ey H FEeRl 91 R S 7

(1) AT (2) =ew

@  fria (4) wfagfe
Options:

E4E350116615. 1
EAE350116616. 2
645350116617, =
6453501166158 4

Question Number : 21 Question Id : 64635029706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If REASON 18 coded as 5 and GOVERNMENT as 9, than what 1z the code for ACCIDENT?

1 6 & 7
@) 8 @ 9
Options:

645350116613, 1
45350116620, 2
E4EZ50116621. =
EAEZ50116622. 4

Question Number : 21 Question Id : 64635029706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e REASON &1 5 @it GOVERNMENT #I 9 % &9 # fzag {41 siar 2 91 ACCIDENT &1 &2 %41
g ?

1 6 @ 17
@ 8 @ 9
Options:

E45350116619. 1
EAEZ50116620. 2
645350116621, =
45350116622 4



Question Number : 22 Question Id : 64635029707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following fractions is the result of the sum of an integer and its reciprocal?

15 26

(1) — (2) 3

a6 a7

(3) T (4) =
Options:

645350116623 1
E4EZ50116624. 2
EAE350116625. =
EAE350116626. 4

Question Number : 22 Question Id : 64635029707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Feffiaa & @ = @9 o quites it 39 sgard % 9 1 aftong 27

15 26
(1) 3 (2) 5
56 a7

Options:
4350116623, 1

E4EZ50116624. 2
EAE350116625. =
EAE350116626. 4

Question Number : 23 Question Id : 64635029708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The average of 35 raw scores is 18. The average of first seventeen of them is 14 and that of
last seventeen 15 20. Find the eighteenth raw score.

(1) 42 (2) 46
3 52 4 56
Options:

E4EZ50116627. 1
EAEZ5011662E8. 2
E45350116629. =
45350116630 4

Question Number : 23 Question Id : 64635029708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



35 Ul 1 Ed 18 21 e YUH HIE H A 14 2 i #faw wm w 3w 20 2
3gREdl UTich 1 &R ?

1 42 (2) 46
@ b2 4 56
Options:

E4E350116627. 1
45350118628, 2
645350116625 5
45350116620 4

Question Number : 24 Question Id : 64635029709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A train leaves Agra at 5 am and reaches Delhi at 9 am. Another train leaves Delhi at 7 a.m
and reaches Agra at 10:30 am. At what time do the two trains cross each other?

(1) 6:36 am (2) 6:56 am
(3) 7Tam (4) 7:56 am
Options:

E4E350116631. 1
EAE350116863Z2. 2
645350116633, =
645350116634, 4

Question Number : 24 Question Id : 64635029709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UF TS ARE H W@ 5 a9 WEIH w2 2R g w0 a9 wgedl 31 3 W@mel fog o wa: 7
o WU Rt 2 A e | e 10,30 99 ugedl 2, & gHi emizan FRa ane o uE-gu & aed
T g TS 7

(1) Ud: 6:36 (2) ¥: 6:56
B) "a: TES ) wE: 756 99
Options:

E4E350116631. 1
EAEZ50116632. 2
EAE350116633. =
645350116634, 4

Question Number : 25 Question Id : 64635029710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sanjay sold an article at a loss of 25%. If the selling price had been increased by Rs. 175,
there would have been a gain of 10%. What was the cost price of the article?

(1) Rs. 350 (2) Rs. 400
(3) Rs. 500 4y Rs. 750
Options:

645350116635, 1
45350116636, 2
EAEZS0116637Y. =
EAEZ50116635. 4

Question Number : 25 Question Id : 64635029710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A A U axq <l 25 gfawa i gz Gkt ) afg Gk gea | 175 . & gfg g @ ar 10 wfaee
AT TN 24Tl 39 9% 6l AU Hod /b1 °17

(1) a50 %, (2) 400 =,
(3) 500 =, 4) 750 %,
Options:

E4E350116635. 1
45350116636, 2
645350116637, 5
45350116635, 4

Question Number : 26 Question Id : 64635029711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If proposition ‘All republics are grateful’ 1s taken to be true then which of the following
propositions can be false?

i)  Republics are not grateful

(11) Some republics are not grateful
(111) No republics are grateful

v) Some republics are grateful

Select the correct answer from the options given below :
(1) () only

(@) () only

(3) @), @) and (1)

(4) (1) and (i1)

Options:

C4E2E0116629. 1

C4dc32E0116640 2

645350116641, =
45350116642 4



Question Number : 26 Question Id : 64635029711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afe a%F ar ‘wfl T Fa9 2 A oW fomn s @ @ FEfafaa § 8 s F e g 8@ e
2

i) oA Fas A E

(1) %@ TURA Faw A 2
(i) 13 i TTUES Fad 2 2l
iv) T TR FaT |

el fo e faered # @ o 39 g
(1) Fad (i)
(2) Fad (ii)

(3) 1), (i1) AW (iii)
@ @) @ ai)
Options:

645350116639 1
645350116640 2

645350116641, =
45350116642 4

Question Number : 27 Question Id : 64635029712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two premises with four conclusions drawn from them. Which of the
following conclusions could be validly drawn from the premises?

Premises:
(1) Some bags are tables
(1) All bags are chairs.

Conclusions :

(a) Some tables are chairs
(b) Nochair 1s table

(c) Some chairs are bags

(d) Some bags are not tables

Select the correct answer from the options given below :

(1)  (a)and (© (2) (b), (¢) and (d)
(3  (@and(d) 4 (b) only
Options:

E4E350116643. 1



E4E350116644. 2
645350116645, =
45350116646, 4

Question Number : 27 Question Id : 64635029712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=t gt s g fo o 2, o = fead um fee e 2) Faafafae & @ saa Beed 31 snam et o
39 B9 I 99 TR0 A1 dad 2

SER T : (i) F9 & W 2

i) =t dh w5 2
e - (a) F & FRET 2|
(b) =% oft Fff e 78 21
(c) F® HAT T F
(d) F& 1 e A
e few o farerei ® o T 3 g
1) (&) () 2 ), © A (D)
@) (&) () 4) ad (b)

Options:

645350116643 1
648350116644 2
45350116645 =2
645350116646, 4

Question Number : 28 Question Id : 64635029713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When subject and predicate of both the premises are the same but they differ in quality only,
1t 18 known as

(1) Contradictories (2) Contraries
(3) Subaltern (4) Super altern
Options:

645350116647, 1
EAE35011664E. 2
E4E350116649. =
EAE350116650. 4

Question Number : 28 Question Id : 64635029713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



foredt smar e =1 3ggv SR g gFi o @ &1, df 3 Sae uEs | fE g, i 92 e

(1)  faard® (2) fEemH
(3) St @) wusEf
Options:

645350116647, 1
645350116648, 2
E4E350116648. =
EAE350116650. 4

Question Number : 29 Question Id : 64635029714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the reasoning in the following argument:

Pre-active stage of classroom teaching 1s important just as pre-learming preparation stage of
communication’

(1) Hypothetical (2) Deductive
(3) Inductive (4) Analogical
Options:

645350116651, 1
EAEZ50116652. 2
E4E350116653. =
645350116654, 4

Question Number : 29 Question Id : 64635029714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiga a% 9 sa zaan & gz=m fifso

w1 e 1 qE afRArea =I00r 31 & HEay g 2, e guwor i gef- wiferm aard s =

(1)  9HEcaIcH® (2) P
(3) HANHATHS (4) HEIATHS
Options:

645350116651, 1
EAEZ50116652. 2
E4E350116653. =
645350116654, 4

Question Number : 30 Question Id : 64635029715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The proposition ‘No red is black’ is equivalent to which of the following propositions?

1) No blackis red

11)  All red are black

(i11) Some red are not black
(iv) HRed is not black

Select the correct answer from the options given below :

(1) (1), (1), (11) and Qv) (2) (1) only
(3 @ and (v) 4) Gv) only
Options:

645350116655, 1
45350116656, 2
E4E350118E657. =
EAE350116658. 4

Question Number : 30 Question Id : 64635029715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THRATE FI5 AT FIA A2l & FEATRgd H H {5 dFaed & GHqed 27

i) I3 Flel o AF 2
() =t I w2
(i) FO AT Fed A 2

(iv) @ e 921 2

A1 fou 71y, forepey & @l I g

O O, G), i) M Gv) (2 (ii) Fa

@ ) @ waT ()
Options:

E45350116655. 1
E4AE53501168656. 2
645350116657, 3
45350116655, 4

Sub-Section Number: 4
Sub-Section 1d: 6463501443
Question Shuffling Allowed : Yes



Question Id : 64635029716 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows expenditures of a company (in lakh rupees) per
annum over the given vears. Answer the questions based on the data contained in
the table :

Item of expenditure

Year | Salary | Transport | Bonus | Interest on Loans | Taxes
2008 | 150 90 2.00 20.0 80
2009 | 180 100 2.50 30.5 95
2010 | 200 110 2.95 35.5 105
2011 | 240 115 3.00 40.0 85
2012 | 250 125 3.25 425 100

Sub questions

Question Number : 31 Question Id : 64635029717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the average amount of interest per year which the company had to pay (in Rupees)
during this period?

(1) 30.5 Lakh (2) 32.7 Lakh
(3) 33.7 Lakh (4) 35.5 Lakh
Options:

645350116653, 1
EAEZ50116660. 2
E4E350116661. =
EAE350116662. 4

Question Number : 32 Question Id : 64635029718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The total amount of bonus paid by the company during the given period is approximately
what percent of the total amount of salary paid during this period?

(1) 0.9% (2) 1.3%
(3) 1.6% 4) 2.0%
Options:

E4EZ50116663. 1
EAE350116664. 2
E453501168665. =
45350116666, 4

Question Number : 33 Question Id : 64635029719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Total expenditure of all the items in 2008 was approximately what percent of the total
expenditure in 20127

(1)  66% (2) 69%
(3) 72% @ 75%
Options:

645350116667, 1
45350116665, 2
E4EZ50116669. =
EAEZ50116670. 4

Question Number : 34 Question Id : 64635029720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The approximate ratio between the total expenditure on taxes for all the yvears and the total
expenditure on transport for all the vears is

(1) 31 :40 2) 25:36
(3) 27 : 80 4) 31:36
Options:

645350116671, 1
EAE3501168672. 2
645350116673 3
45350116674, 4

Question Number : 35 Question Id : 64635029721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The approximate ratio between the total expenditure of the company 1n the year 2008 and
the total expenditure of the company in the year 2009 1s

(1) o7 1 15 (2) 52:.68
(3) 57 : 68 (4) 68:57
Options:

645350116675, 1
45350116676, 2
EAEZ50116677. 3
EAEZ5011667E. 4

Question Id : 64635029716 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension
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2008 | 150 | 90 2.00 20.0 80
2009 | 180 | 100 | 2.50 50.5 95
2010 | 200 | 110 | 2.75 85.5 105
2011|240 | 115 | 3.00 40.0 85
20121250 | 125 | 3.25 42.5 100

Sub questions

Question Number : 31 Question Id : 64635029717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 Hafa § el #1 ufqad e fimd sars 1 yiraE FE 9er? (W9 )

(1) 30.5 Tig (2) 32.7dg
(3) 33.74d™@ (4) 355
Options:

E4E350116659. 1
EAE350116660. 2
645350116661, =
45350116662 4

Question Number : 32 Question Id : 64635029718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ved Aafy ® weE gro e i 18 A i F1 i da e afdr s e fea afawe 27

(1) 0.9% (2) 1.3%
(3) 1.6% 4) 2.0%
Options:

645350116663 1
45350116664, 2
EAEZ501166E6S. =
EAEZ50116666. 4

Question Number : 33 Question Id : 64635029719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gy 2008 W oul wai ux AT T =9 a9 2012 H Fel 549 1 @ foRaAn gl 27
1)  66% (2) 69%

@)  72% 4) T5%



Options:

645350116667, 1
E4E350116EE6E 2
45350116669 =2
645350116670, 4

Question Number : 34 Question Id : 64635029720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1 ol ol % o i W R T Fa ol i 7 oft el % ol 6 T a1 i s e 2

(1) 31:40 (2) 25:36
(3) 27 : 30 (4) 31:36
Options:

645350116671, 1
645350116672 2
45350116673, 35
E4EZ50116674. 4

Question Number : 35 Question Id : 64635029721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ad 2008 # Ferfl gru R T et suw @ ad 2009 9 w % Fel S99 H SHHIHG UG 3

1 BT:75 (2) 52:68
3) 57:68 (4) 68:5T7
Options:

E4EZ50116675. 1
EAEZ5011667E. 2
EAE350116677. =
45350116675, 4

Sub-Section Number: 5
Sub-Section 1d: 6463501444
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635029722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A computer has main memory of 960 KEytes. What 1s the exact number of bytes contained in
this memory?

(1) 960 = 8 (2) 960 x 1000
(3) 960 x 1024 (4) 960 x 1024 x 1024
Options:

E45350116673. 1
645350116680, 2
645350116681, =



EAEZ50116652. 4

Question Number : 36 Question Id : 64635029722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferfl et i gea wia # 960 KBytes 21 34 Sfd H Fifga sz i ot aean #4127

(1) 960 x 8 (2) 960 x 1000
(3) 960 x 1024 4) 960 x 1024 x 1024
Options:

E4E350116673. 1
EAE350116680. 2
645350116681, =
645350116682 4

Question Number : 37 Question Id : 64635029723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The convenient place to store contact information for quick retrieval 1in e-mail 1s

(1) Address box (2) Message box
(3) Address book (4) DMessage book
Options:

E4E3501166583. 1
E45350116684. 2
6453501168685, =
645350116656, 4

Question Number : 37 Question Id : 64635029723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

§oiver i vafea . Wk 36 For s ET TR Y R EREE SHE © 2

(1)  war uferr (g™ diay) (2) He iRt (BUS diaw)
(3) A yfeqH (TgH F) @)  =ew qfeqd (WO )
Options:

645350116683 1
453501166584, 2
E4EZ5011668E. =
EAEZ501166586. 4

Question Number : 38 Question Id : 64635029724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SMTP 1s an acronym for
(1) Simple Mail Transport Protocol (2) Simple Mail Terminal Protocol
(3) Simple Mail Transfer Protocol (4) Simple Mail Transition Protocol

Options:



E4E3501166587. 1
E4AE3501168688. 2
645350116689, =
645350116630 4

Question Number : 38 Question Id : 64635029724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Uy v 4 o e aftedi 27

(1)  Toore da grdrd e (2) fre de e e
(3  Tooa wa gmwt W (@) T 2 gfsrer g
Options:

E4E3501166587. 1
EAE350116688. 2
645350116689, =
645350116630 4

Question Number : 39 Question Id : 64635029725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following file format is not a video file format?

(1) AVI (2 MOV
(3) MP4 4 .JPEG
Options:

6453501166591, 1
45350116632 2
E4AEZ50116633. =
EAE350116694. 4

Question Number : 39 Question Id : 64635029725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefafaa & 4 #9F9 o wEa @ difz9 wEa 1 sHe A8 27

1)  AVI (2) MOV
@  MP4 (49 .JPEG
Options:

E4E350116691. 1
EAE3501166392. 2
6453501166393, =
6453501166594 4

Question Number : 40 Question Id : 64635029726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following 1s an online store house of all academic awards like certificates,
diplomas, degrees, marksheets etc?

(1) SWAYAM (2) National Digital Library
(3) National Academic Library (4) National Academic Depository
Options:

6453501166595, 1
45350116636, 2
6453501166397, 3
EAE35011669E8. 4

Question Number : 40 Question Id : 64635029726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefrfiga 9 & ot et sarfan gur swoeE, oamn, 22l A9 seofe & A =20 g9 4 0
g7

(1)  &=FH (2) AsAa fesftea asd
(3)  AvHd whsiue agsd (4) HAvAa vhefe feifaed
Options:

6453501166595, 1
6453501168636, 2
645350116697, 5
EAEZS01166395. 4

Question Number : 41 Question Id : 64635029727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Montreal protocol aims at

(1) Reduction in emissions of green house gases
(2) Phasing out ozone depleting substances
(3) Prohibiting transboundary movement of hazardous waste

(4) Enhancing cooperation among UN member states for peaceful uses of nuclear energy

Options:

45350116699, 1
645350116700, 2
645350116701 5
645350116702 4

Question Number : 41 Question Id : 64635029727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116699 1
645350116700, 2
646350116701, =2
45350116702 4

Question Number : 42 Question Id : 64635029728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Efficiency of electrical power generation is least amongst the following sources of energy in

case of
(1) Solar (2) Wind
(3) Geothermal (4) Nuclear
Options:

645350116703 1
645350116704, 2
E4EZ50116705. 2
EAEZ50116706. 4

Question Number : 42 Question Id : 64635029728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefafiaa 9 @ =i & e |id d ~gan fra sameA g 2

(1) =R (2) ag
(3) A (4) ArhrEE
Options:

E4EZ50116703. 1
EAE350116704. 2
645350116705, =
645350116706, 4

Question Number : 43 Question Id : 64635029729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Taj Mahal 1s mainly threatened by the deleterious effects of

(1) Sulphur dioxide (2) Chlorine
(3) Oxygen (4) Hydrogen
Options:

645350116707, 1
645350116708, 2
6453501167039, 3
E4EZ50116710. 4

Question Number : 43 Question Id : 64635029729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ar Hgd W gEaa: Aefafiaa § 4 fras afaga wma $i s 27

(1)  Ho% SHIEE (2)  Fdife
(3) e (4) zEEsA
Options:

E4E350116707. 1
EAE35011670E. 2
E4E35011670%9. =
45350116710 4

Question Number : 44 Question Id : 64635029730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Statement I . Earthquake ‘A’ 1s 5 on Richter scale and Earthquake ‘B’ 1s 8 on the same
scale. Earthquake B’ has 1000 times the wave amplitude compared to ‘A’.

Statement [I : The energy released in ‘B’ 1s three times that of ‘A’

Choose the correct option :

(1) Statement [ 1s correct and Statement 11 1s incorrect
(2) Statement I and II are correct

(3) Statement II 1s correct and [ 1s incorrect

(4) Statement I and I1 are incorrect

Options:

645350116711 1
645350116712 2
645350116713 =
48350116714 4

Question Number : 44 Question Id : 64635029730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
452501167111
C4EZE01 16712 2
E4EZE0]11E71E 2
C4E350116714 4

Question Number : 45 Question Id : 64635029731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In large parts of Eastern India, the ground water 1s contaminated by

(1)  Arsenic (2) Lead
(3) Mercury (4) Nickel
Options:

E4E5350116715. 1
45350116716, 2
645350116717 3
645350116715 4

Question Number : 45 Question Id : 64635029731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) A H® (2)
(3  Ung 1) fFwa
Options:

E4E350116715. 1
EAE350116716. 2
645350116717 2
645350116718 4



Question Number : 46 Question Id : 64635029732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is a non-conventional learning programme in higher education?
(1) Swayam

(2) Face-to-face teaching-learning

(3) Tutorial class

(4) Seminar

Options:

645350116719 1
645350116720 2
645350116721 =
E4E350116722 4

Question Number : 46 Question Id : 64635029732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) LE=p i
(2)  AMH-TEA e sftem

(3)  egAfEa %
(4)  AfER

Options:

645350116719 1
645350116720 2
648350116721 =2
645350116722 4

Question Number : 47 Question Id : 64635029733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For the day to day administration of University, which of the following bodies 1s responsible?
(1) Senate

(2) Syndicate/Executive council

(3) Student council

(4) Academic council
Options:

E4E3E0116722. 1
646350116724 2
E463501167¥25 3
646350116726 4

Question Number : 47 Question Id : 64635029733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

foraferner % Fey ufdfer waem & forg Feafafaa @ @ #= ar Fem saer 2
(1)  HHe

@)  Tafewrz/afoemd aftv

3)  fornsif ufwg

(4) AFIEHF qfiNe

Options:

645350116722 1
645350116724 2
646350116725 2
48350116726 4

Question Number : 48 Question Id : 64635029734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements represent the main functions of UGC?

1) Recognition of institutions
(11) Maintenance of quality and standards
(111) Appomtment of Vice Chancellor
(iv) Giving grants to institutions
(v) Making state governments responsible for educational development
Choose the correct answer from the options given below :
() (@), @) and (1)
(2 (), (1) and @(v)
3 @), @) and (v)
(4) (11), (111) and (v)
Options:
£48350116727. 1
646350116728, 2

EAE350116720. =
EAE350116730. 4

Question Number : 48 Question Id : 64635029734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116727 1
E4E350116728 2
45350116729 2
645350116720, 4

Question Number : 49 Question Id : 64635029735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The main aim of the faculty recharge scheme of UGC was to

(1) Address the shortage of faculty in higher education institution

(2) Upgrade the teaching slkalls of the faculty

(3) Upgrade the research infrastructure for the faculty in colleges and universities

(4) Strengthen the academia — industry hinkage
Options:

646350116731, 1

646350116732, 2

646350116733, 3

646350116734 4



Question Number : 49 Question Id : 64635029735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116731 1
645350116732 2
6463501167332 2
45350116724 4

Question Number : 50 Question Id : 64635029736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Name the scheme which facilitates academic and research collaboration between Indian

Institution and the best institution in the world

(1) ICSSR - IMPRESS

(2) Staff Development Scheme
(3) SPARC

(4) Institutional Development Scheme
Options:
42350116735 1
646350116736 2
646350116737 3
646350116738, 4

Question Number : 50 Question Id : 64635029736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =g & oy o A - 3

(2) T SgemHe Ty

(3) T
4)  FEIYYHS SaeuHe TR
Options:

645350116735 1
645350116736, 2
E4E3501167V37. 2
EAEZ5011673E. 4

FPART 11 Visual ATts

Section Id : 646350564

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 96

Number of Questionsto be attempted: 96

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 6463501445
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635029737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Where 1s Ram ki Vav, UNESCO World Hentage Site, situated?

1.  Ahmedabad

2. Patan
3. Sarkhej
4. Vadodara

Options:
4350116739, 1



EAE350116740. 2
645350116741, =
645350116742 4

Question Number : 51 Question Id : 64635029737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=) Yy e =e T-t-a ol fRE 22

1. SigHaEg

2. UcHl
3. TEW
4. dIEU

Options:

645350116739 1
645350116740 2
648350116741 =2
45350116742 4

Question Number : 52 Question Id : 64635029738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the vehicle (vahan) of Kartikeya?
1. Crow
2. Peacock
3. Pigeon

4. Lion
Options:
48350116742 1
645350116744 2
645350116745
645350116746 4

Question Number : 52 Question Id : 64635029738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Pifcend 1 aTe- 341 &7

1. e
2. HR
3. YN
4. W

Options:
45350116743 1

E4EZ50116744d. 2
E4E350116745. =
EAE350116746. 4

Question Number : 53 Question Id : 64635029739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Pratyalidha posture 1s implied to

I Parvati
2.  Lakshmi
A Kal

4, Mahishasurmardini

Options:

645350116747 1
48350116748 2
45350116749 =2
645350116750, 4

Question Number : 53 Question Id : 64635029739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. UEdtd
2. weAtd
3. @
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Options:

645350116747 1
645350116748 2
645350116749 =
648350116750 4

Question Number : 54 Question Id : 64635029740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which is the example of ribbed dome?
1. Jama Masjd, Agra
2. Mot Masjd, Agra
3. Taj Mahal

4. Gol Gumbaj
Options:
E4E8250116751. 1
E4E250116752. 2
E45350116753. 3
645350116754 4

Question Number : 54 Question Id : 64635029740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116751 1
645350116752 2
646350116753 2
48350116754 4

Question Number : 55 Question Id : 64635029741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who wrote Art History for the first time in true sense?
1.  Johann Joachim Winckelmann
2. Lorenzo Ghiberti
3.  Baumgarten

4.  Giorgio Vasari

Options:

645350116755 1
645350116756 2
645350116757 2
645350116758 4

Question Number : 55 Question Id : 64635029741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116755 1
645350116756 2
645350116757 o
48350116758 4

Question Number : 56 Question Id : 64635029742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Sung’ sculptures of Bharhut are made of which type of stone?
1.  Limestone
2. Marble
3.  Red sand stone

4,  Grante

Options:

645350116759 1
645350116760, 2
48350116761 =2
45350116762, 4

Question Number : 56 Question Id : 64635029742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1.  TEIORR
2. TR
3. WTAEge TR

4.  UIBT

Options:

645350116759 1
645350116760 2
645350116761 =
E4E350116762 4

Question Number : 57 Question Id : 64635029743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Whose paintings are believed to bear influence of stain glass painting?

1 Henn Matsse

2. Georges Rouault
3. Vlamuinck

4. Mondrian
Options:
645350116763 1
645350116764, 2
645350116765 =2
45350116766, 4

Question Number : 57 Question Id : 64635029743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. g=wfes
2. Ol =a
3. wHS

4. HitAl

Options:

645350116763 1
48350116764 2
45350116765 =2
645350116766, 4

Question Number : 58 Question Id : 64635029744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who established that Art is communication?
1. Baumgarten
2. Hegel

3. Croce

4. LeoTolstoy
Options:
646350116767, 1
646350116763, 2
646350116769, 3
646350116770. 4

Question Number : 58 Question Id : 64635029744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



for e a8y e o e wsimor 82

1. SHmeA
2. gha
3. R

4. forenciegea

Options:

645350116767 1
645350116768 2
645350116769 2
E4E350116770. 4

Question Number : 59 Question Id : 64635029745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who of the following 1s constructivist painter?
1. Constantin Brancusi
2. Vladimir Tatlin
3. Raymond Duchamp-Villon

4. Alexander Calder
Options:
646350116771 1
646350116772, 2
£48350116773. 3
£46350116774. 4

Question Number : 59 Question Id : 64635029745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. Iqug gl-faar
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Options:

645350116771 1
646350116772 2
48350116772 2
45350116774 4

Question Number : 60 Question Id : 64635029746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The first Sarvatobhadra type temple of Indian architecture 1s
1. Cave No. 1, Sanchi
2. Vishnu Temple at Eran
3.  Dashavatar Temple at Deogarh

4. Parvafi Temple at Nachna-Kuthara

Options:

645350116775 1
48350116776 2
646350116777, 5
645350116778 4

Question Number : 60 Question Id : 64635029746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116775 1
645350116776 2
645350116777 2
E4E35011677E 4

Question Number : 61 Question Id : 64635029747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who 1s the writer of Social Function of Art?
1. Coomaraswamy

B E. B. Havell

3.  Rabindranath Tagore

4.  Radhakamal Mukherji

Options:

645350116779 1
645350116780 2
645350116781, =
645350116732 4

Question Number : 61 Question Id : 64635029747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. HHRME
2. £ e
3. WY TR

4. qUTHHA gES!

Options:

645350116779 1
645350116780 2
645350116781, =
48350116732 4

Question Number : 62 Question Id : 64635029748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Technique of painting of Leonardo da Vinci has

ok

sharpened lines
2. defused forms
3.  sharpened forms

4.,  defused lines
Options:
£46350116783. 1
£46350116784. 2
£46350116785. 3
£46350116786. 4

Question Number : 62 Question Id : 64635029748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116782 1
645350116784 2
645350116785 o
E4E350116736 4

Question Number : 63 Question Id : 64635029749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The “Night-Shining White’ by Han Gan is from
1. Tang dynasty
2. Su dynasty
3.  Handynasty

4. Shang dynasty
Options:
646350116787, 1
646350116733, 2
646350116789, 3
646350116790, 4

Question Number : 63 Question Id : 64635029749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

CAEZEN11e7EY. 1

CAEZE0N11E7ER 2

6453501167589, =
645350116730 4

Question Number : 64 Question Id : 64635029750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who wrote Critique of Pure Keason?
1. Plato
2. Aristotle
3.  Immanuel Kant

4. Sigmund Freud
Options:
646350116791, 1
646350116792, 2
646350116793, 3
646350116794, 4

Question Number : 64 Question Id : 64635029750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. SHUA ST
4. s wias

Options:

645350116791 1
645350116732 2
645350116733
483501167394 4

Question Number : 65 Question Id : 64635029751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most active artist of Indhan National Movement was
1.  Rabindranath Tagore

2. Abanindranath Tagore
3. Nandalal Bose

4. E.B. Havell
Options:
645350116735, 1
64E350116796. 2
645350116737, 3
645350116735 4

Question Number : 65 Question Id : 64635029751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116795 1
645350116796 2
645350116737 2
483501167398 4

Question Number : 66 Question Id : 64635029752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among the following who 1s known as the father of the oil painting?
1.  Hubert van Evck
2. Tintoretto
3. Janvan Eyck

4. Rubens

Options:

45350116799, 1
6453501163800, 2
645350116801, 5
645350116802 4

Question Number : 66 Question Id : 64635029752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E9C a1 ISP
2. fe=Ra

3, EIEECIEREIEEE

4. w99

Options:

645350116799 1
645350116800, 2
645350116801, =
48350116302 4

it

Question Number : 67 Question Id : 64635029753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mass of an object is determined with
1.  the amount of matter 1t contains
2. the amount of light it contains
3.  the amount of space it contains

4. the arrangements of object within the space

Options:

45350116503, 1
645350116804 2
645350116805 5
645350116806, 4

Question Number : 67 Question Id : 64635029753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350116802 1
645350116804 2
645350116805 =
48350116306 4

Question Number : 68 Question Id : 64635029754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Hashiya’ in mimature was used in
1.  Rajasthami mimature
2. Pahart minmituare
3.  Golkunda minituare

4.  Mughal minituare
Options:
646350116307 1
646350116808, 2
646350116309, 3
£46350116310. 4

Question Number : 68 Question Id : 64635029754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116807 1
645350116808 2
645350116809 =
48350116810 4

Question Number : 69 Question Id : 64635029755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Composition is the arrangement of
1. elements within a work of art

2. elements outside the work of art

P

technique and principle of art

4. arrangements of natural objects

Options:

453501165811, 1
645350116812 2
645350116813 =
645350116814 4

Question Number : 69 Question Id : 64635029755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116811 1
645350116812 2
645350116813 =
646350116814 4

Question Number : 70 Question Id : 64635029756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Kano School of Painting belongs to

1. China
2. Japan
3. [Iran
4. India

Options:

645350116815 1
646350116816 2
648350116817 2
453501165813 4

Question Number : 70 Question Id : 64635029756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350116815 1
645350116816 2
645350116817 2
46350116818 4

Question Number : 71 Question Id : 64635029757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s meant by the GSM of paper?
1. The strength of paper
2. The thickness of paper
3.  The width of paper

4. The capacity of ink absorption

Options:

645350116819 1
645350116820 2
645350116821, =
6453501163822 4

Question Number : 71 Question Id : 64635029757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BT & off. T, TH. &7 31 a1 87

. TS B Holgl
2. BN HKS

3. BT B IR
4. O 9RE- ot A

Options:

645350116319 1
48350116320 2
45350116821 =2
645350116822 4

Question Number : 72 Question Id : 64635029758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What s1ze paperis 11-7 x 16-5 inches?

L. A2
2. A3
3. AAd
4. A5

Options:

6453501163822 1
645350116824 2
645350116825 =
645350116826 4

Question Number : 72 Question Id : 64635029758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



11-7 % 16-5 9 & SIS BT SR TR ?

1. A2
2. A3
3. A4
4. A5

Options:

6453501163822 1
48350116324 2
45350116825 =
645350116826 4

Question Number : 73 Question Id : 64635029759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who designed the lithographic posters for ‘Moulin Rouge™?
1.  Alois Senefelder
2. Henn de Toulouse Lautrec
3.  Jules Cheret

4.  Jan Lenica
Options:
646350116827 1
646350116828, 2
646350116829, 3
646350116830, 4

Question Number : 73 Question Id : 64635029759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Hrafer e & foro ferdianftre Ui &t fgors+ fa= dar 3k

1. o 9t
2. BRI aH
3. TN

4. gH Al

Options:

645350116327 1
48350116828 2
6453501163829 5
645350116820 4

Question Number : 74 Question Id : 64635029760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The “x-height” measures all
1. lowercase letters

2. uppercase letters
3. capital letters

4. upper and lowercase letters

Options:

645350116831 1
645350116832 2
6463501168322 =
45350116824 4

Question Number : 74 Question Id : 64635029760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. R ey
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3. Pfucadcy

4. TR AN TR Y AcH

Options:

645350116831 1
645350116832 2
6463501168322 =
45350116824 4

Question Number : 75 Question Id : 64635029761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

World’s largest museum of applied and decorative arts and design is
1.  Victoria and Albert Museum, London
2. Austnian Museum of Applied Arts and Contemporary Art
3.  Museum of Fine Arts, Boston

4.  Musee da Louvre, Paris

Options:

645350116335 1
48350116336 2
645350116827 5
645350116828 4

Question Number : 75 Question Id : 64635029761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



farsy 1 Gl 991 “HfoRH it 3@Es U SHRfe ored s fEe 8
1. & Reiarts sl mform, de
2. ST HIforad 3 3EEs ey U8 Srorildl e
3. Hfomd 3AH BR HIcH, T
4. o oM, Ui, wig
Options:

E45350116835. 1
6453501168836, 2
645350116827, 2
453501165358 4

Question Number : 76 Question Id : 64635029762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following designers, coined the term “Graphic Design’?
1. JanLenica
2. Walter Gropius

3. William Morris

4. Willlam Addison Dwiggins

Options:

645350116839 1
645350116840 2
646350116841 =
453501162842 4

Question Number : 76 Question Id : 64635029762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFofefaa feoei 7 3 o afths fEeeT s & TeT2?

1. ¥ afHet
2. dlecd Joad
3. fafemw arE

4. fiferow uisa= S



Options:

645350116839 1
648350116340 2
45350116841 =
645350116342 4

Question Number : 77 Question Id : 64635029763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Operating as one of Google’s subsidiaries since November, 2006, “YouTube’ is an
American video sharing website headquartered in

1.  San Francisco, Califorma, USA
2. San Diego, California, USA
3. San Maleo, California, USA

4. San Bruno, Californa, USA

Options:
645350116542, 1

E4E3501165844. 2
E4E350116845. =
E45350116546. 4

Question Number : 77 Question Id : 64635029763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

3Mfve! difsar IafaT deaTse ‘g-cgF’, St TaRR, 2006 ¥ TTd &1 50 & &Y § HH HX
w8 @1 g @

1. O wpiferen!, Biempii-an, g, ta. T
2. O feum, Sfewifan g, we. g
3. I Aftish, Siemi, 9. we. T
4, 930 Sfawian g, we. T

Options:

6453501163432 1
648350116344 2
6453501163845 5
645350116846 4

Question Number : 78 Question Id : 64635029764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The white space located inside letterforms like *O” and “P’ 1s called

i

ascender
2. counter
3. descender

4. bowl

Options:

645350116847 1
48350116348 2
45350116849 =2
6453501163850, 4

Question Number : 78 Question Id : 64635029764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘O AR P> O ATBIN P 3 FRUF =Tge T &I el oI g

1. 3Esy
2. BEIW
3. fed=x
4. 39

Options:

645350116847 1
645350116848 2
6453501163493 =
48350116350 4

Question Number : 79 Question Id : 64635029765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The most common consequences of poorly calibrated monitors show up in
1.  RGB values for each pixel
2.  on-screen display
3. video

4. prints

Options:
645350116551, 1

E4AEZ50116852. 2
E4E350116852. =
6453501165854, 4

Question Number : 79 Question Id : 64635029765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TUE diie A Sieee fprmu AR & ged gmm oo fteg 3a &
1. vde fodd & fog o of. &t dwg

2. 3 H few
3. difga
4. fiiem

Options:

6453501163851, 1
648350116852 2
645350116852 5
645350116854 4

Question Number : 80 Question Id : 64635029766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Calligraphy 1s a visual art related to

1. drawing
2.  pantng
3. writing
4.  etching

Options:

645350116855 1
645350116856 2
6463501163857 =2
45350116858 4

Question Number : 80 Question Id : 64635029766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

STt foud gefid exg o a7
1. g
2. Ofem

Options:

453501163855 1
645350116856 2
645350116857 =
645350116858 4

Question Number : 81 Question Id : 64635029767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hokusai 1s master of
1.  engraving prints
2. 1intaglio prints
3. woodecut prints
4. dry point prints
Options:
646350116859 1
646350116860, 2

645350116861, =
453501163562 4

Question Number : 81 Question Id : 64635029767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

CERIERRIVE
1. s fiice ®

2. gemgshfica |
3. dgsocficad
4, S @Rc icad

Options:

6453501163859 1
645350116860 2
645350116861, =
645350116862 4

Question Number : 82 Question Id : 64635029768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Leather belt 1s used for
1. intaglio printing process
2. planography printing process
3.  serigraphy squeeze or serigraphy frame

4. woodcut printing process

Options:

645350116863 1
483501163864 2
45350116865 =2
645350116866, 4

Question Number : 82 Question Id : 64635029768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e Jee 1 T fras o s e 82
1. gcIrsh gEu A
2. Wt gEr A
3. WUl e a1 St hH
4. gSHcHIUH

Options:

E4E350116863. 1
E4E350116864. 2
645350116865, =
645350116866, 4

Question Number : 83 Question Id : 64635029769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Acetic acid 1s used for

1. gum biting

i

speak biting

il

cleaning of limestone

4. unique printing
Options:
646350116867, 1
646350116363 2
646350116369, 3
646350116370. 4

Question Number : 83 Question Id : 64635029769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TAfes S &1 v faar o @
1. THaEE
2. i arsién
3. AT TR P TBIS & fog
4. o fiifen & fom
Options:

645350116567, 1
EAEZS0116868. 2
E4E350116869. =
EAE350116870. 4

Question Number : 84 Question Id : 64635029770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who is first artist established lithography printing press in India?
1. Nandalal Bose
2.  Binode Bihan Mukherjee
3.  Raja Ravi Varma

4. Rabindranath Tagore

Options:

645350116871 1
646350116872 2
48350116872 2
45350116874 4

Question Number : 84 Question Id : 64635029770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YR H fare! gumerd &1 =10 $3- a7 Ugd HelaR S 472
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2. e e gt
3. e Id aHl

4. TG AR

Options:

645350116871 1
645350116872 2
645350116873
645350116874 4

Question Number : 85 Question Id : 64635029771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s member of *Group 8°?
1. Naina Dalal
2. Anmupam Sud
3. Jai Jharotia

4.  Paul Kol
Options:
645350116875 1
645350116876, 2
64E350116877. 2
EAEZE011687E. 4

Question Number : 85 Question Id : 64635029771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THE 8 & 9 B &2
1. ="cad
2. HTEEE
3. o9 RIfe
4. uid o
Options:

E4E350116875. 1
EAEZ50116876. 2
4350116877, 2
645350116875, 4

Question Number : 86 Question Id : 64635029772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Chhapak’ 1s famous

[

painting of Gaganendranath

2. prnt of Kanwal Krishna

e

viscosity print of Krishna Reddy

4. dry-point print of Rini Dhumal

Options:
4350116579, 1

E4E350116880. 2
4350116881, =
EAE3501168582. 4

Question Number : 86 Question Id : 64635029772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘BUE” §

TEEATY B Akt dien

2.  Sad HuNH1 uig file

3. PN ISl & i wikE fiie
4. I yra @1 3R @e v il

—

Options:

645350116879 1
6453501163880 2
648350116881, =
453501163582 4

Question Number : 87 Question Id : 64635029773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Marriage Photo” is print of
I.  R. B. Bhaskaan
2. Ajit Kesan
3.  Manjt Bawa

4. Umesh Verma

Options:

645350116883 1
6453501168584 2
646350116885 =
45350116856 4

Question Number : 87 Question Id : 64635029773 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1. 3R s YR
2. 3oid

3. Holld 9@

4.  H A

Options:

6453501168582 1
645350116884 2
645350116885 =
6453501168586, 4

Question Number : 88 Question Id : 64635029774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who belongs to Group of Indian Printmakers Guild?
1.  Sukhvinder Singh
2. Laxman Goud
3.  Jyoti Bhatt

4. Jai Knishna Agarwal

Options:

645350116887 1
645350116888 2
483501168589 =
45350116290 4

Question Number : 88 Question Id : 64635029774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I URdH fife Ao e 3 9+9ia 22
1. Yalde &g
2. WeAug
3. HdHE
4. TGP UA
Options:

E4EZ501168587. 1
EAE350116888. 2
645350116889, =
645350116530 4

Question Number : 89 Question Id : 64635029775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Printing on paper in China was started in which year?

1. 607
2. 807
3. 909
4. 509

Options:

6453501163891, 1
645350116892 2
645350116833 =
645350116594 4

Question Number : 89 Question Id : 64635029775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=@ srre o fiifeT o af 7= gam
1. 607
2. 807
3. 909
4. 509
Options:

6453501165891, 1
645350116832, 2
E4E350116893. =
EAE350116594. 4

Question Number : 90 Question Id : 64635029776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Albrecht Durer belonged to which country?
1.  England
2.  China
3. Germany

4.  Russia



Options:

645350116895 1
E4E350116396 2
45350116897 =2
645350116898 4

Question Number : 90 Question Id : 64635029776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I TR FA TS 2
1. s
2. ©H
3. oAl
4, w9
Options:

E4E350116895. 1
E4A53501168396. 2
645350116897, =
6453501165838 4

Question Number : 91 Question Id : 64635029777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many stvles of painting are there in Ajanta Cave?

. B2
2. 93
3. 04
4. 05

Options:

645350116399 1
648350116900, 2
45350116901, =2
645350116902 4

Question Number : 91 Question Id : 64635029777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3o &t T H fa- o Dferar €7

. @2
2. @3
3. 04
4. 05

Options:

645350116899 1
645350116900, 2
6453501163901, =
648350116902 4

Question Number : 92 Question Id : 64635029778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The height of “Pieta’ by Michelangelo is

1. 674"
2. 38"
3. 60"
4. 68%"

Options:

645350116903 1
645350116904 2
648350116905 =
45350116908, 4

Question Number : 92 Question Id : 64635029778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hesdau-ordl ! “fudr dt s e

L. oike
2 38"
3. e
4.  68%"

Options:

645350116902 1
645350116904 2
645350116905 =
48350116908 4

Question Number : 93 Question Id : 64635029779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mosaic Art 1s related to
1. Byzantine
2. Contemporary
3.  Gothic

4. Classical (Greek)

Options:

645350116907 1
645350116908 2
645350116909 2
648350116910 4

Question Number : 93 Question Id : 64635029779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. SEoeETd

2.  HHGMH H

3. TME A

4. TEuEd ¢ie) 3

Options:

645350116907 1
645350116908 2
645350116909 2
648350116910 4

Question Number : 94 Question Id : 64635029780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Sculpture of David of Michelangelois in

1. Rome

2. Florence
3. Milan
4.  Venice

Options:

648350116911 1
45350116912 2
6453501169132
645350116914 4

Question Number : 94 Question Id : 64635029780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Mz au-ldl B Sfas &1 °fd ¢

1. UHH

2. W H
3. fHEmH
4, dF-9H

Options:

645350116911 1
645350116912 2
645350116913 =
646350116914 4

Question Number : 95 Question Id : 64635029781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Kalighat paintings belong fo

1.  Rajasthan
2. Kamnataka
3.  Andhra
4. Bengal

Options:

645350116915 1
645350116916, 2
645350116917
645350116918 4

Question Number : 95 Question Id : 64635029781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Hroit are o w8

1. oI
2. Hcs I
3. eiyd
4. M@ d

Options:

645350116915 1
645350116916 2
645350116917 2
646350116918 4

Question Number : 96 Question Id : 64635029782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Dhokra technique belongs to
1. terracotta
2. wood carving
3.  bronze casting

4. drawing
Options:
645350116919, 1
645350116920 2
6453250116921 =2
645350116922 4

Question Number : 96 Question Id : 64635029782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1. U=

2. gS I
3. SIS BT
4. g

Options:

645350116919 1
645350116920 2
645350116921, =
48350116922 4

Question Number : 97 Question Id : 64635029783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Painting of Bodhisattva Avalokiteshvara belongs to
1. Ellora
2. Elephanta

3.  Indus Valley

4. Ajanta

Options:

645350116922 1
645350116924 2
645350116925 =
48350116926 4

Question Number : 97 Question Id : 64635029783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3. fHywrdt

4. 3ol

Options:

645350116922 1
645350116924 2
645350116925 =
48350116926 4

Question Number : 98 Question Id : 64635029784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Basic Indian architecture belongs to
1.  Shilpa Shastra
2. Chitra Sufra
3.  Manushi Shastra

4.  Vedas
Options:
645350116927, 1
645350116928 2
645350116923, 3
645350116920 4

Question Number : 98 Question Id : 64635029784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

645350116927 1
645350116928 2
645350116929
648350116920 4

Question Number : 99 Question Id : 64635029785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Saptamatrika belong to
1.  Parvati Maa
2. Nava Durga
3.  Mother Goddesses

4.  Maa Chamunda

Options:

6453501165931 1
648350116932 2
645350116922 5
645350116924 4

Question Number : 99 Question Id : 64635029785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THIGST Ty Fafed 82

1. oA
2. Fagnd

3. Higeadi |
4, WATEIHISTH

Options:

645350116921 1
645350116932 2
645350116933
648350116924 4

Question Number : 100 Question Id : 64635029786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In Panigrahan sculpture of Shiva, we see the Vishnu. What 1s the role of Vishnu?
1. Father of Parvat
2. Puroht
3.  Brother of Parvati

4. Dikpala

Options:

645350116925 1
645350116936 2
645350116937 =
645350116938 4

Question Number : 100 Question 1d : 64635029786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g 2 uiftrrew 7S 7 g1 o & 2wd € ey & Yitre s 22

1. Ot O
2. UXied
3. Uddl &1 41
4.  fezmma

Y

Options:

645350116925 1
645350116936 2
645350116937 2
48350116928 4

Question Number : 101 Question Id : 64635029787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Following are rock-cut caves of Indian architecture :
(2) Bhaja Cave

(b) Ajanta Cave No. 17

(c) Lomash Rishi Cave

(d) Kailash Temple, Ellora

Choose the correct chronological order of evaluation of these caves :

—_

(d), (), (b), ()

2. (c), (b)),

2

(a), (c), (b), (d)

-

(c), (a), (b), (d)

Options:
645350116939 1
648350116940 2

E4E8250116541. 5



E4E3501165942. 4

Question Number : 101 Question Id : 64635029787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YA WU St Ad Iep 1ol T Fafifea 2

(a) TSI TJ0pT

(b) ST BT H. 17

(c) AR BN 6T

(d) S AR, TERT

3 w1t & [AHre &1 9l HIamy g
1L (d), (), (b), (¢)
2. (), (b),(a),(d)
3. (), (), (b), (d)

4. (c), (a), (b), (@

Options:

648350116929 1
645350116940, 2
645350116941 =
645350116942 4

Question Number : 102 Question Id : 64635029788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Following are the names of some philosophers :

(a) Hegel

(b) Croce

(c) Baumgarten

(d) Susanne Langer

Choose the correct chronological order of the above philosophers :
1. (o), (a), (b),(d)
2. (d),(a),(b), ()
3. (b),(c), (d), (a)

4. (a), (b),(c), (d)

Options:
42350116942, 1

E4E3501165944. 2
6453501165945, =
645350116546, 4

Question Number : 102 Question 1d : 64635029788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (o), (a), (b). (d)
2. (d),(),(b),
3. (b)(c)(d), (@)

4. (a), (0),(c), (d)

Options:
42350116942, 1

E4E3501165944. 2
6453501165945, =
645350116546, 4

Question Number : 103 Question 1d : 64635029789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following are the names of some artists :

(a) Lorenzo Ghiberti

(b) (notto

(c) Donatello

(d) Michelangelo

Choose the correct sequence of the above artists according to their senionity :
L. (b),(a), (0), (D
2. (a),(b)(d)(c)
3. (a,(0), (),

4. (b),(c), (a), (D)
Options:
645350116947, 1
645350116948 2
6453501169449 =
645350116950 4

Question Number : 103 Question Id : 64635029789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (b),(@),(c),(d
2. (@), (). (@
3. (a), (), (), (d

4. (b),(c), (a), (@)

Options:

645350116947 1
648350116948 2
645350116949 5
645350116950 4

Question Number : 104 Question Id : 64635029790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The most famous painting of Jan van Eyck ‘The Armolfini Portrait’

(a) represents naturalism of early Flemish painting

(b) depicts the vows of the marmage

(c) represents the signature ‘Hubert van Eyck was here in 1434°

(d) represents one of the rare full-length portrait of early Renaissance
Which of the following codes is correct?

1. (a), (b) and (c) are correct
2. (b),(c)and(d) are correct
3. (c), (d)and(a) are correct

4. (a), (b) and (d) are correct

Options:

645350116951, 1
645350116952 2
645350116953
645350116954 4

Question Number : 104 Question 1d : 64635029790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501164951, 1
645350116952 2
645350116952
645350116954 4

Question Number : 105 Question 1d : 64635029791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



When we mix colour using pigment or paint, the method

(a) is subtractive colour method

(b) begins with black and ends with white
(c) begins with white and ends wath black
(d) is based on CM YK colour system

Choose the correct answer from the codes given below :
1. (a), (¢)and (d) are correct
2. (a), (b), and (c¢) are correct
3. (b}, (c)and (d) are correct

4. (e¢), (d) and (b) are correct

Options:

648350116955 1
45350116958 2
645350116957, 5
645350116958 4

Question Number : 105 Question Id : 64635029791 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
casasostease, 2

E4E3501163957. 2
6453501165958, 4

Question Number : 106 Question 1d : 64635029792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



In spectrum colour system

(a) purple or violet has the shortest wavelength
(b) red has the longest wavelength

(c) there are seven easily visible colours

(d) violet colour 1s not visible

Choose the correct answer from the codes given below :

[

(b). (c) and (d) are correct

2. (a), (b) and (d) are correct

3. (a), (¢) and (d) are correct

4. (a), (b) and (c) are correct

Options:
453250116959 1

E4EZ50116360. 2
E453501163961. =
E453501165962. 4

Question Number : 106 Question 1d : 64635029792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6453501164959, 1
645350116960, 2
645350116961, 5
645350116962 4

Question Number : 107 Question 1d : 64635029793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange the following animation film studios in sequence of the year of foundation :
(a) Pixar

(b) Disney
(c) Studio Shibli
(d) Dreamworks

Choose the correct answer from the codes given below :

L. (a), (b),(c), (@)
2. (b),(d), () (@
3. (a), (), (c), (®

4. (a), (b),(d), (¢)

Options:
42350116962, 1

E4E3501163964. 2
6453501165965, =
45350116566, 4

Question Number : 107 Question 1d : 64635029793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4. (a), (b),(d), (c)

Options:

45350116963, 1
645350116964 2
645350116965 5
645350116966, 4

Question Number : 108 Question 1d : 64635029794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange the taglines in sequence of their launching :
(a) Maruti Suzuki “Kitna Dett Har”
(b) WHISPER ‘Touch the Pickle’

(c) AIRTEL “Har Ek Friend Zaroori Hota Ha1’

(d) AMAZON ‘Bargarar rakho chunane mein maza’

Choose the correct option from the following :

. (), (), (d), (0
2. (a),(b),(c), (@
3. (d,(c)(a), (@

4. (), (b), (a), (d)

Options:
42350116967, 1

EAE3501163968. 2
6453501165639, =
6453501168570, 4

Question Number : 108 Question 1d : 64635029794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (@), (c) (d), (b)

2. (a), (b),(c), (d)

3. (d).(c). (a), (b)

4. (c), (b), (a), (@)

Options:

45350116967, 1
645350116968 2
645350116969
645350116970 4

Question Number : 109 Question 1d : 64635029795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange chronologically the following OSCAR winning amimated feature films :
(a) Zootopia

(b) Frozen

(c) Coco

(d) Inside out

Choose the correct option :

L. (¢), (@), (d),®)
2. (a),(b),(c),(d
3. (b).(d), (), ()

4. (d),(c), (b), (@)

Options:

645350116971, 1
645350116972 2
645350116973
645350116974 4

Question Number : 109 Question 1d : 64635029795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofeied aieny Sia aTdl TS BI=R fthedl 31 HTApHER Saeid Hife :
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L. (e), (a), (d),
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3. (b)), @, ()

4. (d), (), (b), (@)

Options:

6453501164971, 1
645350116972 2
645350116972
645350116974 4

Question Number : 110 Question 1d : 64635029796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Select the reverse chronological order of etching :

(a) Printing
(b) Wiping
(c) Inking

(d) Etching

Choose the correct option :

L. (), (), (), (d
2. (b), (@), (c), (D
3. (a),(b),(d), (¢

4. (. (e)(b), (@

Options:
42350116975, 1

EAEZ501163976. 2
6453501165977, 2
E45350116575. 4

Question Number : 110 Question 1d : 64635029796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. (a), (b),(c), (d)
2. (b),(@), (), @
3. (a),(b).(d ()

4. (d),(e), (b), (@)

Options:

453501164975 1
645350116976 2
645350116977
645350116978 4

Question Number : 111 Question 1d : 64635029797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Identify the correct sequence of the following artists :
(a) Krishna Ahuja

(b) Jyoti Bhatt

(c) Kanchan Chandra

(d) Anupam Sud

The correct sequence 1s :

L. (b),(@),d), ()
2. (b)) (c), (a)
3. (b @), (),

4. (a),(b),(c), d

Options:

645350116979 1
646350116920 2
45350116981, =
645350116982 4

Question Number : 111 Question Id : 64635029797 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (b), (@), (d), (c)
2. (b),(d), () (a)
3. (b), (@), () (d

4. (a), (b} (0), (@

Options:

45350116979, 1
645350116980, 2
645350116981, 5
645350116982 4

Question Number : 112 Question 1d : 64635029798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Select the correct order of wood-cut printing :
(a) Pressing
(b) Inking
(c) Engraving
(d) Framing
The correct order is :
1. (@), (b).(d), (c)
2. (c), (0),(d, ()
3. (c), (b),(a), (d)
4. (d), ), (@), (¢

Options:

645350116983 1
648350116984 2
45350116985 =
6453501169586, 4

Question Number : 112 Question Id : 64635029798 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4535011639583. 1
6453501165984, 2
6453501165985, =
6453501169586 4

Question Number : 113 Question Id : 64635029799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the correct sequence of sculpture making :
1. Drawing, clay modelling, mould making, casting
2. Mould making, drawing, clay modelling, casting
3.  Casting, clay modelling, mould making, drawing

4. Clay modelling, mould making, drawing, casting

Options:

645350116987 1
48350116988 2
45350116989 =2
645350116990, 4

Question Number : 113 Question Id : 64635029799 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350116957, 1

E4EZ501163988. 2
E4E3501163989. =
6453501165930 4

Question Number : 114 Question Id : 64635029800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The correct sequence of metal casting is
1. drawing, casting, making in wax, firing, moulding
2. drawing, making in wax, moulding, firing, casting
3.  waxing, drawing, moulding, firing, carting

4.  moulding, drawing, making in wax, firing, casting
Options:
646350116991, 1
646350116992, 2
646350116993, 3
646350116994, 4

Question Number : 114 Question 1d : 64635029800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

YT BT ST He! HH TATZY
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Options:

645350116991 1
645350116992 2
646350116992 =
45350116994 4

Question Number : 115 Question Id : 64635029801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the correct chronological sequences:

1.  Greek Art, Bronze Age, Byzantine Art, Expressionism

!\J

Bronze Age, Greek Art, Expressionism, Byzantine Art
3.  Bronze Age, Greek Art, Byzantine Art, Expressionism

4.  Expressionism, Bronze Age, Greek Art, Byzantine Art

Options:

645350116995 1
48350116996 2
45350116997 =2
645350116998 4

Question Number : 115 Question Id : 64635029801 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T8 ey g

1. e o, Hi g, dReicsy o, JfNaieadg
e g1, We s, sifeafardre, ageeRT ol
S g, Wi S, TRoiersy s, sfaferars
Jfiadar, & &1d, Wie Fdl, dgoced ol

T el

Options:

645350116995 1
645350116996, 2
648350116997 =2
E4E35011699E 4

Question Number : 116 Question Id : 64635029802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I wath List—II :

List-I List-I1
(Monuments) (Actual Locations)
(a) Jahaj Mahal (1)  Srinagar (J&K)
(b) Shore Temple (11) Gwalior
(¢) Teh ka Mandir (111) Mahabalipuram
(d) Shah Ham dan (iv) Mandu

Choose the correct option from those given below :
(a)-(1); (b)), (c)(1v); (d)—11)
2. (a-v); (b)-(ui); (e)-(1); (d)—1)
3. (@-); (bw); (e)u1); (d-v)
(a)—(i1); (B—D); (€)-v); (d)iu)

—

e

Options:

645350116999 1
645350117000, 2
645350117001, =
645350117002 4

Question Number : 116 Question 1d : 64635029802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a)-@); (b)~m); (e)—1v); (d)—(11)
2. (aQv); (b)-(u); (¢)-); (D)
3. (a)-); (b)-); (c)(m); (D)—v)
4. (a)-a); (0)-1); (©—v); (A1)

Options:
4532501169599 1

E4EZ5011 7000, 2
645350117001, =
645350117002 4

Question Number : 117 Question 1d : 64635029803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List=I with List=II :

List-1 List—II
(Paintings) (Painters)
(a) Virgin of the Rocks (1) Van Gogh
(b) The Tribute Money (1)  Rembrandt
(¢) The Night Watch (1) Masaccio
(d) The Potato Eaters (iv)  Leonardo da Vinci

Choose the correct option from those given below :
L. (i), (b)—(11); (e)—(iv); (d)(1)
2. (), (b)1); (e)-(i1); (D—1v)
3. (a1 (b)—u); (e)-(11); (d)—-(v)
4. (@)-1v); (b)-(1i); (¢)-(1i); (1)

Options:

645350117003 1
645350117004 2
645350117005 =2
45350117008, 4

Question Number : 117 Question Id : 64635029803 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Lo (a)-(m); (B)-u); (¢)-(v); (d)~1)
2. (a)-(); (b)—1); (¢)-(m); (d)-(av)
3. (a)-Q); (b)-(); (e)—(u); (d)-av)
4. (a)-(v); (b)-(u1); (c)-(); (1)

Options:

45350117002 1
645350117004 2
645350117005
645350117006, 4

Question Number : 118 Question Id : 64635029804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List—I List—II
(Art Theories) (Proponents)
(a) Catharsis (1)  Clive Bell and Roger Fry
(b) Intwmtion (1)  George Dickie
(¢) Formalism (11)  Croce
(d) Institutionalism (1v)  Anstotle

Choose the correct option from those given below :
L. (a)-v); (b)-(); (e)—it); (D)D)
2. (a)-(u); (W1 (o)~ (d)—av)
3. (a)-(v); (b)-(u); ()-); (D))
4. (a)-(i); (b)—(m); (c)-v); (D)—~1)

Options:

45350117007 1
645350117003 2
645350117009
645350117010, 4

Question Number : 118 Question Id : 64635029804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. (@-Gv); &) (0)-Gid); (D)
2. (a-(u); (b)-@); (¢)1); ()-av)
3. (a)-Qv); (b)-(m); (c)—1); (d)(i1)
4. (a)-(Q); (b)—(ur); (e)-(v); (D)D)

Options:

45350117007 1
645350117003 2
645350117009
645350117010, 4

Question Number : 119 Question Id : 64635029805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-I List-II
(Artists) (Paintaings)
(a) Wilham Turner (1)  The Madonna of the Rocks
(b) Jan Vermeer (1)  The Milkmaid
(¢) Leonardo da Vinei (1)  Apples and Pomegranates
(d) Gustave Courbet (1v)  The Fighting Temeraire

Choose the correct option from those given below :
L. (a)-Qi); (b)-av); (o)—i); (D)D)
2. (a)-(u); (b)-); (c)—1v); (d)—1)
3. (a)-Q); (b)~u1); (¢)-11); (d)-(v)
4. (a)-(v); (b)y-); (¢)-(); (d)-(111)

Options:
645350117011, 1
E4E350117012 2

E4E350117013. 2
E4E350117014. 4

Question Number : 119 Question Id : 64635029805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (a)-(i); (B)—(iv); (e)—(1id); (d)—(1)
2. (a)-(u); (b)-Q); (e)-v); ()1
3. (@ (b)ub); (e)—1); (d)-av)
4. (a)y(iv); (b)-(); (e)-(); (D))

Options:

45350117011 1
645350117012 2
645350117012 =
645350117014 4

Question Number : 120 Question Id : 64635029806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List-1 with List-II :

List-I List-II
(a) Oil colour (1)  Gum Arabic
(b) Dry pastel (i1) Fixer
(¢) Mural (11) Charcoal
(d) Drawing (1v) Linseed ol

Choose the correct option from those given below :
L. (@)-av); (b)-(); (o)D) (d)n)
2. (@) (b)~m); (e)-v); (d)-u)
3. (@), (b)-1); (¢)-1i); (d)-av)
4. (a)-(); (b)—1v); (¢)-(1); (d)(1i1)

Options:

645350117015 1
645350117016 2
648350117017 =2
E4E35011701E 4

Question Number : 120 Question Id : 64635029806 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a1 &1 Gei-11 § gafera sife .
a1 TaI-II

(a) of1gd HeR (i) T SR

(b) 3T oA (i) fopaER

(c) Td (i) =R

(d S (v) e aifaa
fau e faeeui | @ 98 IR &1 99 BT

L. (a)-(v); (b)-i); (c)-(1); (d)—(1ii)
2. (a)-Q); (b)-Hum); (e)w); (d)-(n)
3. (a)-(); (b)-(); ()-(1); (d)-(v)
4. (a)-ai); (b)-v); (¢)-(1); (d)-(1i1)

Options:

45350117015 1
645350117016, 2
645350117017
645350117018 4

Question Number : 121 Question Id : 64635029807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List—I List-II
(a) M. F. Husain (1)  Cubist technique
(b) Abanindranath Tagore (1)  Wash technique
(¢) Gaganendranath Tagore (m) Conceptual art techmque
(d) Subodh Gupta (iv)  Folk art technique

Choose the correct option from those given below :
L. (a)-{i); (b)-1); (c)-v); (d)i)
2. (@)-Qv); (b)-); (e)-); (A1)
3. (@), (b)-av); (¢)-(u); (d)—1)
4. (a)-Q); (b)-(m); (©)—(n); (d)-Qv)

Options:

645350117019 1
48350117020 2
45350117021, =2
645350117022 4

Question Number : 121 Question Id : 64635029807 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 S GE-11 | GATT BT :
-1 -1

(a) TH.U%. g9 () TRETs

(b) eraTETY SR (i) o dP-te

(c) Y TR (i) P T TpD

(d) gErYy e (iv) e Baae-is
f&u e ol § ¥ 98t TR &1 997 S :

. (a)-(); (b)-Q); ()); (D)
2. (a-(v); (b)-(); ()-@); (d)(11)
3. (a)-Q); (b)-av); (¢)-(u); (D—1)
4. (a)-@); (0)-(u1); (¢)-(1); (d)-(v)

Options:

45350117019 1
645350117020 2
645350117021 5
645350117022 4

Question Number : 122 Question Id : 64635029808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-I List-II
(a) Printouts (1) Web Design
(b) RGB (1) Impulse
(¢) Point of Purchase (111) Calibration
(d) Display (1v) Visual Merchandising

Choose the correct option from those given below :

—

(a)-(iii); (b)—(1); (c)(ii); (d)—(iv)
(a)—(1); (b)(ii); (e)iii); (d)—({v)
3. (@-v); (b)—1); (e)—(ii); (d)—(iii)

P

i

(a)-(1); (b)-(i1i); (c)—(1v); (d)-(ii)
Options:

645350117023 1

645350117024 2

645350117025 =2

E4AE350117026. 4

Question Number : 122 Question Id : 64635029808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a1 @I gai-11 § grferd Sifo
-1 -1
(a) ficemseH (i) a9 feeme
(b) oM it 4t (i) e
(¢) WEc 3t U=sl (i) SfersierT
(d) feumd (iv) fIg3rd HobsTaiom
feu MU fawedl § 9 W SR 1 99 Do :
1L (@i, (DD ()ii); (div)
2. (a)(@); (D)(d); (e)id); (d-Gv)
3. (@-v); (0)-D); ()-i); (d)-ii)
4. (a)-{); (b)(ii); (e)iv); ()i

Options:

45350117022 1
645350117024 2
645350117025
645350117026, 4

Question Number : 123 Question Id : 64635029809 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-1 List-I
(Headlines/Titles) (Leading Designers)
(a) Why Man Creates (1)  Paul Rand
(b) Give Earth a Chance (11)  Milton Glaser

(¢) From Lascaux to Brooklyn  (iii)  Saul Bass

(d) Set the Twilight Reeling (iv)  Stefan Sagmeister
Choose the correct option from those given below :

1. (a)-(i); (b)-(iii); ()-(v); (D1

2. (a)-Qu); (b)-(); (—1); (D-Gv)

3. (@-(v); (B)-1); (e)-(); (d)Hiii)

4. (a)-(); (B)-v); (o)-(u); (D)

Options:

4350117027, 1
645350117028 2
645350117029
645350117030, 4

Question Number : 123 Question 1d : 64635029809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



-1 & gE-11 § gafea S

Ti-1 a1
(ESTmEH/cTgea) CLCAREIERRY

(a) 18 B frucy (i) draiws

(b) e e gary (iiy  fheeT TR

(c) IhIH T®Iad ¢ gl (iii) A

(d) ¥ g AR AR (iv) e FTERR
feu Tt fawedi | | 9El ITR &1 99 P :

L (a)y-(); (D)) (e)-(v); (d)-1)
2. (a(u); (B)-); (©)-1); (d-av)
3. (a-v); (b)-Q); (¢)-(n); (d)~(1)
4. (a)-@); (b)-v); (c)-(in); (d)i1)

Options:

45350117027 1
645350117028 2
645350117029
645350117030, 4

Question Number : 124 Question Id : 64635029810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-1 List-II
(a) Darkroom (1)  Digital Photography
(b) Adobe Photoshop (1)  Digital Imaging
(¢) Charge Coupled Device (1)  Analogue Photography
(d) Gelatine Emulsion (iv)  Silver Halide Crystals

Choose the correct option from those given below :
L. (a-1); (D)1); (e)iii); (D—{v)
2. (a)-wv); (b)) (e)-(1); (1)
3. (a)-(m); (b)-(1); (©)(11); (d)-Qv)
4. (a)-(); (b)-(v); (¢)-(); (d)-(1)

Options:

645350117031 1
645350117032 2
648350117022 =2
45350117024 4

Question Number : 124 Question Id : 64635029810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 & -1 ¥ grfta s
-1 -1

(a) SHEH (i) fEoica Wt

(b) USH BRI (i) feoftca s

(c) =l Pucs fearsy (it)  TATEN Bl

(d) fomife e (v) R taEs frew
fau g faseal § 9 98 IR &1 9 ST :

L. (@-@); (B)-); (¢)~1u1); (d)-1v)
2. (a)-(v); (b)-(m); (c)-(u), (1)
3. (a-m); (b)-@); (0)~1); (d)-Gv)
4. (a-); (b)-v); (o)), (d)-1)

Options:

45350117021 1
645350117032 2
645350117022
645350117034 4

Question Number : 125 Question Id : 64635029811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List=I with List=II :

List—I List—II
(a) Shilp1 Chakra was established in (1) 1947
(b) Group-8 was established in (1) 1968
(¢) R.B. Bhaskaran won National (1i1) 1983

Award in

(d) Lalit Kala Akademi Regional Centre, (iv) 1978
Chennai was established in

Choose the correct option from those given below :
1. (a)H1); (b)-); (¢)-v); (d)—1m)
2. (ay-(n); (b)-1); (c)H1); (d)—1v)
3. (a)y-(m); (b)-(v); ()-1); (D))
4. (a)H1); (b)-1); (¢)(u); (d)-1v)

Options:

645350117035 1
645350117036 2
45350117027 2
645350117023 4

Question Number : 125 Question Id : 64635029811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 ! g-11 F grfa S
-1 A1

(a) Rt 9 e o9 ot = i) 1947

(b) THE-8 BRI (i) 1968

(c) ot & HRH U AP GTEHR (i) 1983

(d) dfeid »ar SBIGH! &HT Bg, 998 DI ”OHT (iv) 1978
few e fRwed d 9 981 IR &1 799 i

1 (a-); (b)); (e)~(1v); (d)-1m)
2. (a)y-(u); (B)-Q); (0)(1); (d)-(v)
3. (a)-(ui); (B)-(v); (e)-0); (d)—1D)
4. (a)-@; (B-(i); ()-(ui); (1)

Options:

645350117035 1
453501170328 2
645350117027 5
645350117028 4

Question Number : 126 Question Id : 64635029812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List-I List-II
(a) OFF Walls (1)  Anupam Sud
(b) The Great Trifle Car (i)  Durer

(¢) Darling Get me ababymaid (i) Moti Zharotia
(d) Yatra iv) Photo Etching
Choose the correct option from those given below :
1. (a1 (b)); (e)-(wv); (d))
2. (@-v); (b)) () (d)-u1)
3. (a)y-(m); (b)-(u); (c)-(v); (d)—1)
4. (@) (b)H); (1), (d)-v)

Options:

645350117039 1
645350117040, 2
645350117041, =2
45350117042 4

Question Number : 126 Question Id : 64635029812 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



eI Bt -1 | gafera Hifon
Ta-1 A1

(a) Siip aTCE i) SruHYg

(b) T RBasr i) SR

(¢) SfficHoIhas (i) Hrd e

(d) am (iv) Il gl
fau mu fasedt A 9 g IR &1 7= S

L (a)-); (b)—u); (0)1v); (d)-(1m)
2. (a)-Qv); (b)-(1); ()-(1); (d)~i)
3. (a)-(w); (b)-1); (©-(v); (=D
4. (a-@); (B)-); (©~u); (d-v)

Options:

645350117039 1
45350117040, 2
645350117041, 5
645350117042 4

Question Number : 127 Question Id : 64635029813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List—1 List-I1
(a) Haren Das (1)  Varanasi
(b) Somnath Hore (1) Baroda
(¢) Deepak Banerjee (111) Kolkata
(d) Rini Dhumal (iv)  Shantiniketan

Choose the correct option from those given below :
Lo (a-); (b)-G); (c)-(u1); (d)-Gv)
2. (a)-i); (b)), (-v), (d)—1)
3. (a)-(m); (b)-(v); (e)-); (d)~1)
4. (@)-(m); (b)-(v); (¢)—1); (D)1

Options:

645350117043 1
645350117044 2
648350117045 =
45350117048 4

Question Number : 127 Question Id : 64635029813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 Bt FE-11 | gAferd S
-1 A1

() BTN (i) aRwE

(b) |ETYER (i) s

(¢) WIS it (iii) A

() I eme (iv) wifafed
fau g fawmedl # 9 98 3T &1 99 S :

L. (@)-@); (b)—1); (c)-(u); (A-(v)
2. (a)-(); (b)-(); ()-(wv); (d)-(1)
3. (a)-@w); (b)-Gv); (c)-@); (D)
4. (a)y-(u); (b)-(v);, ()1 (D)

Options:

645350117043 1
45350117044 2
645350117045 5
645350117046 4

Question Number : 128 Question Id : 64635029814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II :

List—I List-II
(a) The Ecstasy of St. Teresa (1) 5th Century
(b) The Portrait, Bust of Louis-XIV (1) 4th Century
(¢) Capture of the Jericho, Mosaic (111} 1665
(dy Story of John, Floor Mosaic from (1v) 164548
Basilica

Choose the correct option from those given below :
L (@)-v); (b)), (¢)-(1); (D))
2. (a)y-); (D)), (c)-ui); (d-(v)
3. (a-u); (b)—H1); (e)-v); (d)-(u1)
4. (a)-ui); (b)-(v); ()—(i1); (d)—1)

Options:

645350117047 1
45350117048 2
645350117049 5
645350117050 4

Question Number : 128 Question Id : 64635029814 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



geil- [ D1 Fal- 11 9 gHiferd HIfom ;
g1 eI

(a) UFHCHY 3t He & (i) orEdEg

(b) T UIge, 9% 31 gru-XIV (i) et aet

(¢) =R IAME T Hfve, Aies (i) 1665

(d) Mﬁqqﬁ?%ﬁwﬁ (v) 1645-48
faq e faeseni | 9 FEt IR BT T S

1. (@)-Qv); (b)-(u); ()-); (1)
2. (&)@ (B)-i); (e)-(ii); (d1v)
3. (a)-@); (b)-1); ()—v); (d)-(im)
4. (a)-(ii); ()-av); (e)-); (1)

Options:

E4E350117047. 1
645350117048 2
645350117049 5
645350117050 4

Question Number : 129 Question 1d : 64635029815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List—I with List-II :

List-I List-I1
(a) Horse by Duchamp (1)  Stone
(b) Rapport des Volumes, by (1)  Bronze
Georges Vantongerloo
(¢) Bottle rack by Marcel (i) Concrete
(d) Dom-Ino House by Le (lv)  Readymade iron (Welded)
Corbusier

Choose the correct option from those given below :
L (a-Q); (b)-1); (¢)-(u1); (d)-1v)
2. (a)-(i); (v (D) (D)
3. (a)-Qv); (b)) (e)-m); (1)
4. (a-(u); (b)—1); (©)-av); (d)-(i)

Options:

645350117051, 1
645350117052 2
645350117052
645350117054 4

Question Number : 129 Question 1d : 64635029815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



G- [ B Tl 11 ¥ gHIfed Hifon -
Tal-1 Tt

(a) BN g @) oo

(b) I AN, IS e @l (i) &

() uicd Yo, ARla g1 @I iy Holc

@ SHFeRyAeEtEe (v EHSE O
feu TTe A el # 9 92 TR &1 997 S :

L (@) (0)-); (e){ii); (d)-{v)
2. (a)-(i); (b)-av); (c3—1); (1)
3. (a)-Qv); (b)-(ur); (0)-(1); (DD
4. (a)-(1); (b)-@); ()—v); (D))

Options:
4532501170511

E4EZ50117052. 2
E4E350117052. 2
645350117054 4

Question Number : 130 Question 1d : 64635029816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match List-I with List-II :
List-1 List-II

(a) Santhal famly of Ramkinkar (1)  Iraqt Museum, Baghdad

(b) Golden Head of Bull from Ur (11)  Santimketan

(¢) Medusa and her son Chrysaor (111)  Vatican

(d) The Laocoon Group (v)  Museum of Corfu, Greece
Choose the correct option from those given below :

L (a)-); (0)-0); (¢)-(v); (d)-(m)

2. (a)-@); (b)H1); ()—(i); (d)—(iv)

3. (a)-v); (b)-(in); (c)-@); (d)-(D)

4. (a)-i); (b)-(Qv); ()—(11); (d)—{)

Options:

648350117055 1
45350117058, 2
645350117057 5
645350117058 4

Question Number : 130 Question Id : 64635029816 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



- | &1 al- 11 F gl oifo ;
a1 a1

(a) TYTE BiAfer 3w A fFee i) P AUEET SIS

(b) TS BS 3B §d WHiH R (i) Wit

(c) WZH TS & I feair (i) IR
(d) gfdeiegu (v) =% JuEEd, 49
feu U et # 9 U 3T &1 9 Sifon

L (@), (B)-); (0)—1v); (d)-(u)
2. (a)y-(); (b)-); (c)(ii1); (d)-(v)
3. (a-v); (b)-(); (o)-1); ()i
4. (a)-(un); (B)-(v); (c)-(); (A1)

Options:

645350117055 1
645350117056, 2
645350117057 5
645350117058 4

Question Number : 131 Question 1d : 64635029817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Northern branch of Silk Road in Central Asia i1s marked with important centres of
Buddhist Art from the following :

@  Kizil

(b)  Bezeklik
(c) Dunhuang
(@  Kucha

Which of the following codes 1s correct?

=

(a), (b) and (¢) are correct
2. (a), (c¢) and (d) are correct
3. (b)), (c)and (d) are correct

4. (a), (b) and (d) are correct

Options:

645350117059, 1
645350117060, 2
645350117061, =
645350117062 4

Question Number : 131 Question 1d : 64635029817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



He Ui § W Arf 31 I IR Fafeied # 9 59 gew kg dal § Rz 8?
(a) fosfora

b)) IR

(©  ggem

d =
frafefad oct A @ o @1 9@ 82

L (a), (b) SR (o) WEH &
2. (a),(0) 3R(d) TR E
3. (b), (o) dR(A)TRNE
4. (a), (b) 3R (D) TAE

Options:

645350117059, 1
645350117060, 2
645350117061 5
645350117062 4

Question Number : 132 Question 1d : 64635029818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Plato condemned arts because it has elements of

(a) imitation
(b) truth

(c) 1dea

(d) emotion

Choose correct combination :

[

(a) and (b) are correct

b~

(b) and (¢) are correct
3. (c¢)and (d) are correct

4. (a) and (d) are correct
Options:
646350117063, 1
648350117064, 2
648350117065, 3
646350117066, 4

Question Number : 132 Question 1d : 64635029818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



el = sl Fi el #i i saH 3 97 &
(@ 3P

(b) LR

© =R

(d) T4

e Fare g
L. (a) 3R (b) SEIE
2. (b) 3R (c) TEIE
3. (o) ¥R () wdE

4. (a) IR (d) TEE

Options:

645350117063 1
645350117064 2
646350117065 =2
45350117066, 4

Question Number : 133 Question Id : 64635029819 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sculptures of Kushan period from Mathura School focus on
(a) indigenous style
(b) Buddhist theme
(c) realistic anatomy
(d) sumptuous body forms
Choose the correct combmation :
1. (a)and (d) are correct
2. (a)and (c) are correct
3.  (c)and(d) are correct

4. (c)and (b) are correct

Options:
42350117067, 1

EAE350117068. 2
6453501170689, =
645350117070, 4

Question Number : 133 Question 1d : 64635029819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR Seft Bt PuTor Hical Fafeied W HEd €
(a) SIS Aeft

ORI IFAC LGS
() TurdaTel T=
(d) TR STat By
W S I
1. (a) 3R () TAE
2. (a) () WHE
3. (0) 3R (d) WA
4. (c) ¥R (b) TAT

Options:

645350117067 1
645350117068 2
453501170689 =2
645350117070, 4

Question Number : 134 Question Id : 64635029820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the right sequence according to the period of the following art movements :
(a) Surrealism

(b) Abstract expressionism

(c) Pop art

(d) Dada art

The right sequence is :

==

(d), (a), (b), (c)
2. (e, (b),(d), (@
3. (0),@) @ ©

g

(c), (a), (d), (b)

Options:

645350117071 1
48350117072 2
645350117072 5
645350117074 4

Question Number : 134 Question Id : 64635029820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fFofeiea Far sieiaH! & i & aR I8! HH I :
(a) qiafeeH (sifd gumrlars)
(b) 3 Sifvreaiaaare
()  HEma
(d) qral Sl
R
1. (d), (@), (b), (¢
2. (e),(0),(d), (@)
3. (b, (@), (@),
4. (0, (@), d, ®)

Options:

645350117071 1
645350117072 2
45350117072 =2
645350117074 4

Question Number : 135 Question Id : 64635029821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the correct order of the timeline of the following artists :
(a) Bhupen Khakhar

(b) Amrit Shergill

(c) Raja Ravi Varma

(d) Jitish Kallal

The correct order 1s :

1. (b}, (a),(c), (d)
2. (d),(c),(a), (D)
3. (a),(d),(b), ()
4. (c), (b), (a), (d)

Options:

645350117075 1
645350117076 2
645350117077 2
645350117073 4

Question Number : 135 Question 1d : 64635029821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofiied SaeR! 1 HTd & ST9R Jo! HH g

@  ETEE
®) R
(c) NEIRGEEE]
@ i o
S S

L. (b), (@), (c), (d)
2. (d),(c), (a), (b)
3. (a),(d), (D) ()
4. (), (b), (a), (d)

Options:

645350117075 1
645350117076 2
48350117077 2
645350117073 4

Question Number : 136 Question Id : 64635029822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose the correct sequence of the following :
(a) Mannerism

(b) Gothic Art

(c) Byzantine Art

(d) Baroque Art

The nght sequence 1s :

L. (b),(a), () (d)
2. (a),(c), (D, b
3. (0),(b),(a), (d)
4. (d),(b), (@), ()

Options:

645350117079 1
645350117080, 2
45350117081, =2
645350117082 4

Question Number : 136 Question Id : 64635029822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (b), (a), (c), (d)
2. (a0, @), ®
3. (0. (b)(a), (@
4. (d). (). (@), (o)
Options:
casasor 17om0 2

6453501170381, 3
E4E350117082. 4

Question Number : 137 Question Id : 64635029823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Viral Marketing’ strategy uses

(a) social networking

(b) internet

(c) the same way the virus does
(d) impulse

Choose the correct option from the following :
1. (d),(c)and(b) are correct
2.  (c), (d) and (a) are correct
3. (a), (b) and (c) are correct

4. (a), (b) and (d) are correct

Options:

645350117083 1
483501170284 2
45350117085 =2
645350117086, 4

Question Number : 137 Question Id : 64635029823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117083 1
6453501170384 2
45350117085 =2
645350117056, 4

Question Number : 138 Question Id : 64635029824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Web design includes many different skills in the production and maintenance of
websites

(a) Graphic design
(b) Interface design
(c) Authoring, code and proprietary software
(d) Offset printing
Choose the correct option from the following :
1. (a), (b) and (d) are correct
2. (c), (d)and (a) are correct
3. (b}, (c)and(d) are correct

4.  (a), (b) and (c¢) are correct

Options:

645350117087 1
648350117088 2
45350117089 =2
645350117090, 4

Question Number : 138 Question Id : 64635029824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. (o). (d) 3R () W E
3. (b),(0) 3R ()T
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Options:

645350117087 1
645350117088 2
45350117089 =2
645350117090, 4

Question Number : 139 Question Id : 64635029825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Magazine and Print Designers must be well-aware in the following areas :

(a) Typography

(b) 3D Amimation

(c) InDesign

(d) Prepress

Choose the correct option from the following :
1. (b}, (c)and(d) are correct
2. (a), (b)and (d) are correct
3. (a), (c) and (d) are correct

4. (a), (b) and (¢) are correct

Options:

645350117091 1
648350117092 2
45350117092 =2
645350117094 4

Question Number : 139 Question Id : 64635029825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350117091, 1
645350117092 2
45350117092 =2
645350117094 4

Question Number : 140 Question Id : 64635029826 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The titles of print making of famous print maker Krishna Reddy are

() Chhapak
(b) Mask

© Reflection
(d) Appu

Choose the correct option from the following
1. (a), (¢) and (b) are correct
2.  (a), (c) and (d) are correct
3. (b), (c)and (d) are correct

4. (d), (a) and (b) are correct

Options:

645350117095 1
645350117096, 2
645350117097 =
645350117098 4

Question Number : 140 Question 1d : 64635029826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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I (a),(c) 3R (b) WEE
2. (a),(c) 3R(d) WEE
3. (b).(0) 3R (d) WEE
4. (@, @IRO)THE

Options:

645350117095 1
645350117096, 2
45350117097 =2
645350117093 4

Question Number : 141 Question Id : 64635029827 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What are used in lino etching medium?

(a) Lino block

(b) Ground

(c) Tools

(d) Caustic soda

Choose the correct option from the following :

1. (a),{d) and (b) are correct
2. (a), (b)and (c) are correct
3.  (b), (¢)and (d) are correct

4.  (a), (c) and (d) are correct

Options:

645350117099 1
645350117100, 2
645350117101, =
648350117102 4

Question Number : 141 Question 1d : 64635029827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



for=t ufein Hrens | SR 35 S 22

(a) IGRIESIES

®) TS

© T

(d) PICD TSl

Prafafea & 3 98 Rew g -
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Options:

E4E350117099. 1
E4E350117100. 2
645350117101, 2
645350117102, 4

Question Number : 142 Question 1d : 64635029828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following serigraphy printmakers are working in India :
(a) Moti Zharotia
(b) Jyoti Bhatt
(c) Rim Dhumal
(d) Paramjeet Singh
Choose the correct option from the following :
1. (a), (c) and (d) are correct
2. (a), (b)and (c) are correct
3. (b}, (c)and (d) are correct
4. (a), (d) and (b) are correct
Options:
646350117103, 1
646350117104 2

E4E350117105. 2
EAE350117106. 4

Question Number : 142 Question Id : 64635029828 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117102 1
645350117104 2
645350117105 =
645350117106 4

Question Number : 143 Question 1d : 64635029829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The sculptures of Ellora are the following :
(a) Goddess Ganga Cave—21

(b) Kailashnath Temple Cave-16

(c) Dhwaja Stambh Cave—16

(d) Bodhy Tree Cave—10

Choose the correct option from the following :

L. (a),(b),(c)
2. (d),(@,(b)
3. (e (b),(d)
4. (a), (), (c)

Options:

45350117107 1
645350117103 2
645350117109
645350117110 4

Question Number : 143 Question Id : 64635029829 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117107 1
645350117108 2
645350117109 =
646350117110 4

Question Number : 144 Question 1d : 64635029830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Symbolic presentation of Shiva are in dance
(a) Creation
(b) Destruction
(c) Cosmic Dance
(d) Shanti
Choose the correct option from the following :
1. (a), (b) and(c)
2. (d),(a) and (b)
3. (a),(d) and(c)

4. (¢), (b) and(d)

Options:

6453501171111
645350117112 2
645350117113 =
646350117114 4

Question Number : 144 Question 1d : 64635029830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6453501171111
645350117112 2
646350117112 =
648350117114 4

Question Number : 145 Question Id : 64635029831 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Dravidian style of temples (time period) :
(a) Pallava period (600—900)
(b) Chola period (900-1150)
(c) Pandya period (1150-1350)
(d) Kushan period (700-1000)
Choose the correct option from the following :
1. (d), (@),
2. (0,
3. (@, (), ®
4. (a), (D), ()

Options:

645350117115 1
645350117116 2
645350117117 =
646350117118 4

Question Number : 145 Question 1d : 64635029831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



afdg el & Hiexl &1 @1E
(a) Uedd &Td (600-900)
(b) T HTE (900-1150)
(c) gigdl &1d (1150-1350)
(d) YT I (700-1000)
Profaee # 9w Ao I

L (d), (@) 3R (Db

2. (0),(@ 3R (@

3. (d). (o) R

4. (a), (b) R ()

Options:

45350117115 1
645350117116 2
645350117117 =
645350117118 4

Sub-Section Number: 2
Sub-Section Id: 6463501446
Question Shuffling Allowed : Yes

Question Id : 64635029832 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Sub questions

Question Number : 146 Question Id : 64635029833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The panel of wall painting from Ajanta shown in the picture belongs to which period?
1.  2nd/lst century BCE
2. 1st century CE
3.  5th century CE

4. Tth century CE

Options:

645350117119 1
648350117120 2
45350117121 =2
645350117122 4

Question Number : 147 Question Id : 64635029834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The wall painting shown in the picture displays a male deity in the cenfre of
composition. Who is he?

Avalokiteshvara

—
.

2. Indra
3. Kamadeva

4. Siddharth

Options:

645350117122 1
645350117124 2
646350117125 =
48350117126 4

Question Number : 148 Question Id : 64635029835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The panel of wall painting shown in the picture is located in which cave number?

. Cave No. 1
2. Cave No. 7
3. Cave No. 9

. Cave No. 17

Options:

645350117127 1
645350117128 2
6463501171293 2
48350117120 4

Question Number : 149 Question Id : 64635029836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The panel of wall painting shown in the picture registers a unique creature as composite
bird and human being. How is this known?

1. Gandharva
T Kinnar
3, Garuda

4. Suparna

Options:

645350117131 1
645350117132 2
646350117122 =
45350117124 4

Question Number : 150 Question Id : 64635029837 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the theme of the painted panel of Ajanta shown in the picture?

1. Buddhst

2. Brahmanical
3. Jain

4.  Parivrajak

Options:

648350117135 1
453501171326 2
645350117127
645350117128 4

Question Id : 64635029832 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension



Sub questions

Question Number : 146 Question Id : 64635029833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

648350117119 1
45350117120 2
645350117121 =
645350117122 4

Question Number : 147 Question Id : 64635029834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117123 1
645350117124 2
646350117125 =
45350117126 4

Question Number : 148 Question Id : 64635029835 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350117127 1
645350117128 2
645350117129
648350117120 4

Question Number : 149 Question Id : 64635029836 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4532501171211

EAE350117132. 2
E45350117133. 2
645350117134 4

Question Number : 150 Question Id : 64635029837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350117135 1
648350117136 2
645350117127 35
645350117128 4



